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int find_index(int n, int xary, int len) {
int i;
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}

000000 2.2 find-index(Ruby)

ary.find_index {|x| n = x}
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require ’drb/drb’

q = Queue.new
DRb. start_service (”druby://localhost:12345” | q)
loop do

eval (q.pop)
end
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require ’drb/drb’

q = DRbObject. new_with_uri(”druby://localhost:12345”)
job =7 (1..100).inject (:4)”

q.push(q)
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require ’drb/drb’

q = Queue.new
DRb. start_service ("druby://localhost:12345”, q)
loop do
q.pop.call
end

require ’drb/drb’
q = DRbObject. new_with_uri(”druby://localhost:12345”)
job = Proc.new do
(1..100).inject (:4)
end
q.push(job)
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require ’drb/drb’
q = DRbObject.new_with_uri(”druby://localhost:12345")
job = Proc.new do
(1..100).inject (:4)
end
q.push(q)
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000000 3.1 Places00O00000O0OOOOODODO
(define (fib n) ....)

(define (start—fib n)
(define p
(place ch
(define n (place—channel—get ch))
(place—channel—put ch (fib n))))
(place—channel—put p n)

p)

(define pl (start—fib nl))

(define p2 (start—fib n2))

(values (place—channel—get pl)
(place—channel—get p2))

start-fib 0 place 000000000000 DOO0O0D0OOO0O0ODODOO placedOO0DOO
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def fib (n)
end

def start_fib (n)

p = Place.new(n) do |n|
$ref.put fib (n)
end
end

pl = start_fib (nl)
p2 = start_fib (n2)
p [pl.get, p2.get]

000 start-fib0 place 0000000000 OOPlaces0 0000000 3.10 ch
0000000000000 00000O0D00O000000000RUby0O0OOOO
00000000000 O%ref000000 place000000000OOOOOOOOO
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1)
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1 (make—shared—fxvector size [x
(make—shared—flvector size [x
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3.4 CG

CG O Communication Gruop 0000000 place0 00000000 OOOO0OO
goboboooooboboooobboooobboooobooboo

xiaO CGODOUDOO Array 000000000000 DOO0OOODODOODOOOOO
0000 350000000000000000000CG#push0 CGOOOO place
O000000000004-5000 place0 00000 CGUOODDOODODOOOOO
0000 place00 place 0000 CGUOODODOODOOOODODOOOODODOOODO
CG#synceachOOOODOOOOODOODODOOODOODOOOODODOOODOODOO
00 CGOUOOODOOO place0000000D0O00OQODOOODOODODOOODO
goo

000000 3.5 CGOO)

1 class CG

2 0O ...

3 def push(place)

4 @places << place.set_cg(self)

5 $master.add_place_cg(client_id: $client_id , cg_id:@Qid, place_id:place.id)
6 end

7

8 def sync_each ()

9 threads = []

—_
o

t = Thread.new do
@places.each do |p]

— =
N =

yield p
end

_
w

end

threads << t

threads.each {|t| t.join}
end
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(compute—FFT—x 1))

(CGBarrier cg)
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(compute—FFT—y 1))
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(compute—FFT—z i))))
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fork_join ((0..n), processor_count) do |cg]|
cg_for(cg) {|i| compute.FFT_x(i) }
cg_for(cg) {|i| compute.FFT_y(i) }
cg_for(cg) {|i| compute.FFT_z(i) }

end
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place0 ProcO0OO0ODODOO0OO0O0O0OO0ODODOOOOO2-2700000000O0DOO
O000Oplaced _end 000 Symbol 000000 place000000O0OOO0O31
goooooooooo

Racket 0 SO O ODOOODOOOOOODOOOORubyOOOOOOODOOOOODOODO
OO0000000D00000000000D00000000000D00000 send OO0
0000000000000 0000D0U0OD0O0RubyDODODOODOOOOODOODOO
dob0doboooobooouooboooooooooooooooooooooooa



000000 3.8 Fork-join(Places)

1 (define—syntax—rule

2 (fork—join NP cg ([params args] ...) body ...)

3 (define ps

4 (for/list ([i (in—range n)])

5 (place ch

6 (define (do—work cg params ...) body ...)
7 (match (place—channel—get ch)

8 [(list—rest id np ps rargs)

9 (define cg (make—CG id np (cons ch ps)))
10 (define r (apply do—work cg rargs))
11 (place—channel—put ch r)]))))

12

13 (for ([i (in—range NP)] [ch ps])

14 (place—channel—put

15 ch

16 (list i NP ps args ...)))

17

18 (for/vector ([i (in—range NP)] [ch ps])

19 (place—channel—get ch)))

000000 3.9 Fork-join(Ixia)

1 def fork_join(cg_args, pc, &block)
2 cg = CG.new

3 cg.args = cg-args

4 pc.times do

5 p = Place.new do

6 cg = $ref.get

7 loop do

8 proc-s, args = *(3ref.get)
9 if proc.s = :__end

10 break

11 end

12 proc = proc.s.to_proc

13 results = args.map do |argv|
14 proc.call(cg, argv)

15 end

16 $ref.put(results)

17 end

18 end

19 cg.add_place (p)

20 end

21 cg.each do |p]|

22 p.put(cg)

23 end

24 yield cg
25 (cg.wait_count —1).times do



26
27
28
29
30
31
32

cg_barrier (cg)
end
results = cg_barrier (cg)
cg.each do |p]|
p.put (: -—end)
end
return results

33 end
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3.4.2 CGPipeline

0000000000000 0000000D000000b000000000ndPlaces
O00000000O0O00ooO0ooooOogoD 3.100ooogoodoooooooo
0000000000000 320000000000 bO0OU0O0DDODOOU0oODOOO
OO000000D0O0DO0ODODOO0OO0O placebO0DO0OO0OODOODOODODOODOO
0000 placeD0O0O0Oplaced 1000 place0 00000000 OOOOOODOODO
place 00001000 placed initvalue 00O D0OOO0OO0ODOO placed 000000

ggooood

oo

000 3.10 pipeline(Places)

(define v (flvector 0.0

0.1
0.2
0.3

O
.0
.1
.2
.3
0.4 1.4

= =

(fork—join 5 cg ()
(for ([i (in—range 5)])
(CGpipeline cg prev—value 0.0

(define idx (4 (=

2.0 3.0 4.0
2.1 3.1 4.1
2.2 3.2 4.2
2.3 3.3 4.3
2.4 3.4 4.4))

i 5) (CG—id cg)))

(define (fl—sqr v) (flx v v))
(fl4+ (fl—vector—ref v idx)
prev—value)))))

(fl—sqr

000000 3.100000000000D000D0 xiaODOOODOODODODODOODO

0 3110000

v=[0.0,1.0,2.0,3.0,4.0 ...

init_value = 0.0

0.0

place

(0.0 +0.0) **2

21904.0

1.0 9.0 144.0

l

A

place

(1.0 + 0.0) **2

\ 4

place place ——| place

(2.0 +1.0) **2 (3.0+9.0)**%2 (4.0 + 144.0) **2

O 3.2 Pipeline
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000000 3.11 pipeline(Ixia)

v = [0.0, 1.0, 2.0, 3.0, 4.0,
0.1, 1.1, 2.1, 3.1, 4,1,
0.2, 1.2, 2.2, 3.2, 4.2,
0.3, 1.3, 2.3, 3.3, 4.3,
0.4, 1.4, 2.4, 3.4, 4.4]
fork_join (v, 5) do |cg]
5.times do |i|
cg_pipeline(cg, 0.0) do |prev_value|
idx = i*5 + cg.id
(cg.args[idx] + prev_value) *x 2
end
end

Places 0 CGpipeline 000000000000 ODO0O 3.120 00 O CGPipeline 00O
0000000000000 cd00OO place 0000 (prev-value)d O OO (init-value)d
0000 (body) DD0ODODD4000 cg000D00D00D0DDDOOOODDODOG6000OO
O place 00000 send-value 0 0000000700000 place0O00D0O0O00OO
prev-value 0 0000000000000 0DDO placeid0 0) D0 00OO0OO0OOOOOO
001200000000000 placed 000000 place00D00O0OO0ODOODO0O

00 IxiaO CGpipeline 000000 0D000DOOO0OO 3.30000000000
000 Places0ODODO0ODOO0OOO0OO3000 sync_each_with_index CGOOODO
000000000000000000 pOplace00i0D00O0OOO0OOO (DOOOOO
00000)00000000000000000Oforkjoin00000000 cg.args
gbodouodododododvoooooooooooood

000000 3.12 CGpipeline(Ixia)

(define—syntax—rule
(CGpipeline cg prev—value init—value body ...)
(match cg
[(CG id np pls)
(define (send—value v)
(place—channel—put (list—ref pls (addl id)) v))
(define prev—value
(if (= id 0)
init—value
(place—channel—get (car pls))))
(define result (begin body ...))
(unless (= id (subl np)) (send—value result))
result]))




1
2
3
4
5
6
7
8
9

000000 3.13 CGpipeline(Ixia)

def cg_pipeline(cg, init_value, &block)
results = []

cg.sync_each_with_index do |p, 1i|
prev_value = cg.first?(p) ? init_value : cg.prev(p).get
p.put ([block.to_source, prev_value])
results[i] = p.get
end
return results|[—1]
end
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1 40

Jouoogotd

goboboooobbbooobbboooobbbooooboboooobboood
0000000000000 000000000Ruby0D IRBO PryODOOO0ODOO
gogoooooobobobbobbobobooooododdddododooooooood
goboboooobobtoooobooooobobbooooobobooon

4.1 0000

4.1.1 0OD0OOOOO

ooob0oobdoboobobo0 1obooboboooboobOoboobuoboooo
gobobooodooobuoooobbuoooooboboooobbboooobLbboooono
ggooobobiodooooobbobooouoobobobobooooobbbooooooo
goooognd

e JOODODOO
000000000000 DO000DO000ODO00DOOo0oooDooooDOooDoOOg
0000000000000 000D0000o0oD0oDoooDoooooonoooog
O0ooooooooooog

e JOOODODOO
gbodododododoooooooooooooooooooooooon
00000000000 D00o0oooooooooooooooooooog
oOoooooood

e JOOOOONO
0000000000000 0000o00Do0oooooooooon 10000
0000000000000 0o00oooooooooooooooooooog
OO00D000o0oooooo

o 10
OO00D00o00o000o0Dooo0ooooooooooooooon



4.2 000000000000

412 0O0O0OOOOOO

gobbbooogouobboooouobbboooooboobobboooobobboo
ggoboboooobobbooooboboboooobobobooooboboooobobooon
ggoboboogobbboooobobbooooboboboooooobooooobbooon
000000000000 0000000IxiaDOODOODOODOOO breakpoint 00 00O
000000000000 place000O0OO0O0OODODOOODOOOO

42 ODO0ODOOO0OOOOOO

gogobobooooboboooobboooobbboooobbboooobbooon
goobobboooobbboooobbooon

421 O0O0OO

goooboboooboobobooobobboobo 1booboboobobobobDOoo
ggoboboooobbboooobbbooobobbuooobobobuoooobbooon
ggoboboooobobooooobuoooobooooonoo

422 0000000O0OOOO

ggoboboooooboooobbooooboboooobbboooobbooon
gooboboooobobbooooobboooobboooooboooobobooon
goobboooobbtboooobobbdooobobbuooobobboooubLbbooon
goobbobodoooooooobooooobbbooouoobbbboooooobobooboo
gobobbobbboooooobibodooobbbooouobbboooobobbo
041000000

000000 41 0DODOOOOO (OD)

def square(n)
return nx*n
end

cg = CG.new

N.times do
p = Place.new(P) do |n|
count = 0
n.times do
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11 if Math::sqrt(square(rand) 4+ square(rand)) < 1
12 count +=1

13 end

14 end

15 $ref.put count.to_f / n

16 end

17 cg.push(p)

18 end

19

20 puts cg.map{|p|p.get}.sum x 4 / N

000000 410000000000000000 placed 9-15000000000
O0000000 breakpoint 00000000 OO0OO placed0O00OO0OO0ODOOOO
gopbobooooooo

gobobooooboobbooobboooobobobooooboboooobbooaod
OO0DO0o0o0OO0obO0obOobo0oooOobobobooobooDOo 610000

000000 42 0OO00OODOOOOO (ODD)

1 def bitonic_sort (up, st, array)

2 if array.size <=1

3 return array

4 else

5 if st > 0

6 pl = Place.new(true, st, array[0...array.size/2]) do |up, st, array|
7 $ref.put bitonic_sort(up, 0, array)

8 end

9 p2 = Place.new(false, st, array|[array.size/2..—1]) do |up, st, array|
10 $ref.put bitonic_sort (up, 0, array)

11 end

12 first = pl.get

13 second = p2.get

14 else

15 first = bitonic_sort (true, st—1, array [0...array.size/2])

16 second = bitonic_sort (false, st—1, array[array.size/2..—1])

17 end

18 return bitonic.merge (up, first + second)

19 end

20 end

000000 6100000000000 DOODODOODOODOODOstOObDOOO
OO0 placeD00000000D0O0 2000000000000 00O00D0O0ODOODOOO
O0000D00000DO0000DO0000DO02000 breakpoint 00000000
gobboooobobboooobbboooobbboooooo



4.3 0000000000000 O0O

4.3 ODO0ODOOOO0OOO0OOOOO

4.3.1

00000000000 place 00000000000000000000 IOSimula-
tor(5.2.50 (p.36)) O PStream(5.3.10 (p.37)) 0000000000000 00000
0000 place 0000000000000 0OO0O0O0OOOOOOOOOODOOOOO
000000000000 place000 10000000000 RubyDODODODODO
0000 place 0000000000 place00000000000000000000
00000000000 000000000000000000000 place0000
OD0000 place 0000000 cpO0000000000OOODNOOOONOOOOODO
0000000000 place000000000000000000000O0O00000
0000000000000000000000000 place000000000000
0000000 place 00 000000000000000000000000Oplacel
0000000000000000 4100place200000000000000000

0420000

000000 place

User

F—R—k |

wR |9

v

-

L~

place (PO F+7)

F—R—p

/ N\

N

place2

UEN

User

~N

¥

L~

stdin

stdout

stderr
placel

N

0O 4.1 placel DO0O0DODOODOOOO

™

/

N

stdin
stdout

stderr
place2(7 05+ )

042 place20000000000O0O
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4.3.2 CG#the_world

4220 (p.23)00000000D00O0O0OCGLOOUOOOOOODDOO placeOd
O000000000000000D0000 place000000O0ODOOOODOOOONO
0000000000000 000D0000DO0 CGQOUOUOOOOOO placeOOOonnO
0000000 CGUOOOD 100 place0000D0DO0OODODOODODO CGOO
000000 place 00000000000 OOOODOODO Interpreter 000 OO0O0OO
O000000000000000 CGUUODOO0O00O0O0oOOooOod placedOnO
00 theworldOOOOOOOODO

4.3.3 CG+#time_starts

CGOOUOOOOUOD place00D0D0O0O0ODO0O0DODOODOOODOOOODOOODOO
OO0theworldJOOOODOOODOOOOOOODOOODOOOOOOODOODDOOOO
0000 CGOOUUOO0O0O0ODOODODOO00000 placed000O0 timestarts 0000
goood

4.4 0OO0O0OOOO

gobobogoboobuooonoboouooobobobuooonooo

44,1 OOOOOOOOO

000000 430 9000000000000 cOOODODOOOODOODODODO
000000000000 4300000000000000O placedO0OOOOOODO
0000000000000 0D0000DO0DO00D00O0DO0DbDO0O0 placebOdnOOO
gobbooodoobobtoooobboooobooog

0430 00000000000DO0DOO0OO0ODOO0ODbDObDObOODbOObOOobDOobDObDO
gooooooon

l.p00000O pO0OOODODOO place0 000D OO0ODOOOODODO place-id O
gobobooogooo

2.cp00000DDODODODDO placed pO0000OO0OO0O0O0O0OOOO place O
ooobbOoOooooooobobobboooobobo 1obobbboooooooDoo
aoo



4.4 000000

3. 000000000 00edit000000000DDO0O0OOOOO0ODOOOOO

gooo

4. un00000 place0 000000000 ODOODOODOODOODOODODOODOO

0 place O$ref 00 0O

5. 00 place00000DOO0O0DOOOO0DOOOODOODOOODOOODDOOODO

0o0O0d0oonD 43 DO00OODOOoOOoOOoOO

1 require_relative
2 include Ixia

3

4 p = Place.new do
5 a = 100

6 b = 200

7 $ref.put a + ¢
8 end

9

10 breakpoint
11 puts p.get

”

../ ixia”

442 theworldDOOODOOOOO

gooboboooooboooobboooobbboooobboooobobooon
O0000000OO0bO0DbO0ODbO0ODO0OD 4400000000D0ODODO placedDODO
0000000000000 00000 12000 theworldOOOOOOODOOODOO
OO0 place00O000ODOOODO

gogobbuoooobobooouobbuoooobbboooobbbooobbboooo
place 00 000DOOO0O0ODOODOODODOODOOOODOOOOOOOOODOOODOOODO
ggoboboooobobboooobobboooobboboooooboooobobooog
goobooboood

000000 4400000000000000ODODOODOO

l.cgODOODOOO place00O0O0ODOOO

2.cg000000 1000 place0000D00D0ODOODOODODOOODOODO 1500
OO0 1700000000000 0DO0DO0OOODOODOOO0OOODOODbDObOO

3. theworldOOO place 00000000 OOOODOOOODOOOO

000000 44 theworldDOOODODODOOO

?”

1 require_relative ”../ixia”
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0000 : require "../ixia"

0001 : include Ixia

0002 : p = Place.new do
a = 100
b = 200
$ref.put a + C

end

@003 : breakpoint

0004 : puts p.get

place(#9)>

#<Exception place_id=1, line=2, exec="$ref.put a + c”, mess="undefined local variable or method

‘c¢' for main:Object">

place(#0)> p p — (:)
#<Place:0x6ac698 @client_id=2, @id=1, @node=nil, @cg=nil, @args=[], @ref_id=0>
place(#0)> cp p

0000 : a = 100
0001 : b = 200

0002 : $ref.put a + ¢ (:)
place(#1)> c = 200

place(#1)> run (:)
place(#9)> run

300 (:)

043 0O0O0OQCOOOODOOOO

2 include Ixia

3

4 cg = CG.new

5 10.times do |1i]
6 p = Place.new(i) do |i]
7 if i =20

8 sleep 3

9 the_world
10 puts i

11 elsif i = 1
12 sleep 3

13 puts i

14 elsif i = 2
15 sleep 3

16 puts i

17 end

18 puts ixi

19 end

20 cg.push(p)

21 end

22 breakpoint
23 cg.each{|ala.join}
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0000 : require "../ixia"
0001 : include Ixia
0002 : cg = CG.new
0003 : 10.times do |i]
p = Place.new(i) do |i]
if i ==0
sleep 3
the_world
puts i
elsif i == 1
sleep 3
puts i
elsif i == 2
sleep 3
puts i
end
puts i * i
end
cg.push(p)
end
0004 : breakpoint

0005 : cg.each{|a| a.join} (:)

place(#0)> p cg.list —_—

[#<Place:@x24b8758 @client_id=0, @id=1, @node=nil, @cg=#<(G:0x24bbbc® @id=0, @places=[...],
@wait_count=8, @args=nil>, @args=[[:i, ©]], @ref_id=0>, #<Place:0x25b44a@ @client_id=0, @id=2,
@node=nil, @cg=#<(G:@x24bbbc® @id=0, @places=[...], @wait_count=0, @args=nil>, @args=[[:i, 1]],

@ref_id=8>, #<Place:0x26432e8 @client_id=8, @id=3, @node=nil, @cg=#<(G:0x24bbbc® @id=0,

place(#9)> cp cg.place(1) (:)
1

0000 : i = $master.places[@][2]["args"][:i]
0001 : if i ==
sleep 3
the_world
puts i
elsif i ==
sleep 3
puts i
elsif i == 2
sleep 3
puts i
end
0002 : puts 1 * i
place(#2)> p i @

1

0O 44 theworldDOOODOOOOODO



5. UOooond

o0

oot

5.1 O00O0OOOOO

kiaODOOOOOOOOOOO Master(5.1.10 (p.31)) O Node(5.1.20 (p.32)) 0000
O000000O0OMaster 00000000 100NodeDODODOODOOODOODODOODO
0000 10000000NodeO0OODOOOO0OO0OOODOOO Worker(5.1.30 (p.32)) O
0000000000000 Worker 000D DO0DO0ODODOOOODOOOOOO CPU
oo0oo0oboobooboboobUdob slboobobobobuooboboobbooo
dRuby 000000000 DOO0OOODOOOODOODO NodeOOOO Worker 00O
ggobobooooooboooooo

5.1.1 Master

Master 0 MasterObjcect 0000000000000 OdRubyOD0OOODOOOOO
O00000O0place 000000000 0O0ODOOODO MasterDOODOOODOOD Ixia
goooooooooooooo

/ PStream
MasterObject Interpreter
Master
\\ Worker
—————— Worker
Node Node -

051 O0OO0OOODO
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5.1.2 Node

Worker 00000000000 O0ODO0OODO0OO0O0ODOO WorkerOOOOODOOO
O000000000 place0 0000 NodeODOODOODOOO placed0O0O0OD0O0O
goobooooboboooodgn

5.1.3 Worker

place 0000000530 (p.37) 0000000

5.2 placed OO

00000000000 place000000O0OOOOOOODODOODOODOODO
xiaOdOODODODODOODODODODOODODODODODODOOODOO

1. 000000000000

2. 00000000 ParserModule(5.2.30 (p.33)) 000000000000000
N0000000D00000000000000000000000000 place
0000000000000000000

3.00000000 SRProgram(5.2.40 (p.35) 000000000000000
00000000000000000 Plaee00000000000OOODODOO
0000000 placed theworld 00 000000000000000000O0
00000000 place000 Placenew 000000000000000 place
000000000000 placed Master 00000000000000

4. 10Simulator(5.2.50 (p.36)) 0000000000000000

O0000000000000 placed place0 00000000 OODOODODOOO
OO00000000 place0000D0O0ODOODOOODOOODODOOODOODOOODOO
Master D OO O

5.2.1 0OOOOOO

000000000 xiaOOOODOOOODOOOOOOOOODOOODOOODOO
O0 place0000000000OD00O0ODOO0DOIxiaMaster DO OO0OOOOO0OO
gobobooodooobuoooobbuoooooboboooobbboooobLbboooono
O0000 place000D0O0O00DODO0OO0ODOOOODOODOOODO
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5.2.2 Place(00ODO)

00000000 Placee 00000000000000000000000 place O
2.3.10 (p.8) OOplace 000000000 3.20 (p.11) 000000000 Place 00
00000000000 p0000000000000000000 placeD00000
0000000000000 5100000000000000000000000 5.20
ooo

0000 place 00000000000000000 520000000placed00
0000 Place 0000000000 place 0000000 place 000000000
O place 00000000 Place 00 0000000000000000000000
place 00 000000000000000000O0O0O

O0000oO0oO 5.1 placeDO00O00ODO

p = Place.new do
a = 100
b = 200
¢ = 300
breakpoint
$ref.put a * b + ¢
end

OO0oooo 5.2 placedOOOOOOOO

<Place:0x2956b30
@client\ -id =0,
@id=1,
@node=nil ,
@cg=<DRb:: DRbObject:0x20ac8d0 Q@uri="druby://illya:54144” , Qref=18917532>,
args=]],
@source=<SRProgram:0x2956a58 ...>

H.2.3 ParserModule

000000000000 00000000000000000000000000
00 Ripper 00000000000 ORipper D Ruby 0000000000000
0000000000000000000000000000000000000 place
0000000000000000000000000000000000000000
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Worker Worker
Place (id = 0) Place (id=1)
Place.new ... <Place:0x2956b30 ...
Place (id = 1) L
<Place:0x2414a30 ... e
1

0 5.2 PlaceOOQOOO0OO

OO000000000D0OO000O00DODO0bOO00O00DOOO0OOO Ripper00O
OO0O000o0oboobooooboobobooob h30ouobun

000000 5.3 Ripper 00000000 (ODO)

[[4, 0], :on_kw, ”def”],

[[4, 3], :onsp, ” 7],

[[4, 4], :on_ident, ”"bitonic_sort”],
[[4, 16], :on_lparen, 7 (7],

[[4, 17], :on_ident, ”up”],

[[4, 19], :on_.comma, ”7,”],

[[4, 20], :on_sp, ” "],

[[4, 21], :on_ident, ”st”],

[[4, 23], :on.comma, ”,”],

[[4, 24], :on_sp, ” "],

[[4, 25], :on_ident, ”array”],
[[4, 30], :on_rparen, 7)”],

[[4, 31], :on_ignored_nl, ”\n”],
[[5, 0], :onsp, 7 7],

[[5, 2], :onkw, "if”],

[[5, 4], :on_sp, ” 7]

000000000 [[o0,00000000)],00000,00]0000D00ODOO
gogooobobbooobooouobbboooobobboooobboobooobo
onkwJO0O0OODOOOCOOOODOODODOODOOOOOOOOOOOUODOODOOO
OOORubyOODOOOOODODOOODOOODOOO

e J0IOOOOdefDendOODOOOODO

e J0UJODOO classDendDO0OOOOOO

e J000I0D0Dend0D00DOD0DOODODODOODODOODOODODOODODO
gobobdoodobbuoooobbouooobobbuoooo



1
2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
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eend 0O DODDODOOO module, class, def, if, unless, case, while, until, for,
begin, do0 00000000 RubyOO OO if0unless0 00000 O0O0DOO0O
0000000000000 endd 0000000 DOOOOODOOOOODOO

ggobobooooobooooboboooobobboooobbboooobbooaon
ggoboboooobobbuoooooboo

5.2.4 SRProgram

RubyOOOO0ODOOOOOO0ODOOODOOOOOOODOOOOOODDOOOOOO
0000000000000 0000000000Ruby00O0O0O0O Ripperd0 00O
00000000 ORipper 000000000 O0OODOOODOOODOODOO 5400
ggoo

000000 54 RipperD0D000OO0O0O0O (OO)

[: program ,
[[: command,
[: @ident, "require_relative”, [1, 0]],
[: args_add_block ,
[[: string_literal ,
[: string_content , [:@tstring_content, ”../ixia”, [1, 18]]]]],
false]],
[: command,
[: @Qident, ”include”, [2, O0]],
[: args_add_block, [[:var_ref, [:@const, ”Ixia”, [2, 8]]]], false]],
[: def,
[: @ident, ”bitonic_sort”, [4, 4]],
[: paren,
[: params,
[[: @ident, "up”, [4, 17]],
[: @ident, ”"st”, [4, 21]],
[: @ident, "array”, [4, 25]]],
nil |
nil ,
nil |
nil |
nil |
nil]],
[: bodystmt ,
[ if
[: binary ,
[: call,
[: var_ref , [:@ident, "array”, [5, 5]]],
[: @ident , ”"size”, [5, 11]]],



31
32
33
34
35
36
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<=,
[: @int, 717, [5, 19]]],
[[: return,
[:args_add_block , [[:var_ref, [:@ident, ”array”, [6, 11]]]], false]]],
[: else

gdoboboooobbboooobbtbooobobboooobbboooobbobooon
O00 RubyOOODOODOODOODOOODOOODOOOOOOOODOOODOOODOOOOO
0000000000000 00000D00000 SRProgramO0000000COOOO
O0SO0000000000000000000000000O0O00DODODO00oDODoOO0OOn
OO0O0000bo0obOoboooboobobooobg ss00b0oonb

000000 5.5 SRProgram(00)

case sexp [0]
when :command
command = p_parse(sexp|[1l])
args = p-parse (sexp[2])
return command + 7 7 + args
when :assign
var = p_parse (sexp[1l])
value = p_parse(sexp[2])

7 =7 4+ value

return var +
when :massign
vars = []

sexp[1l].each do |s|

vars << p-parse(s)

end
values = p_parse(sexp[2])
return vars.join(”, 7)) + 7 =7 4 values

5.2.5  TOSimulator

IOSimlator 0000 place 00O DOO0OODOO0DOODOODODOOODOODOODOO
00000000000 xiaOODODOODOOOOOODOOODOODODDOODOOO
O000xiaOOODOOOODOODOO place0000O0 Interpreter 0000000
000000000000 00D00000D00000D000000000D0dRuby O
0000000000 DO000O0DOO00o00doobO0oooooOooooooogooao
OO00000000000D000000000000000 Interpreter 00O 0000
00 PStream(5.3.10 (p.37)) 0 0000000000000 O0DOO0OOOOODOO
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5.3 place 0 O 0

O0000D00IO0Simlator 0000000 placed PStreem OO0 000000000
O000000D0O0D0O0place00D0000OD0OO0ODO0ODO0ODOODOOOODOODOODODO
O Master 000D 000000O0000O0O0O0OOOPStream 00 Master 00000
[OSimulator 0 Master 00 OO0 0000000000000 OOODOODOODOOOOO
0000000 place0 0000000 0ODOODODOOODOODOODODOOODOODOODO
agn

5.3 place 000

Master 0000000000 placed Worker 00O O0O0O0OOOODOOOO
Worker 000 O0000O0O0O0DOOOO

1. Master 000000 place000000DO0O0ODOODO

2. $ref OSself 0O OO O0O%refd place00000 place0 000 0%self 0000
goooooooo

3. 00000000 PStrem 0000000

4. Interpreter(5.3.20 (p.38)) 000000

0000000000 0DO0O0D0O0O0ODOWorkerJODOO placedO00O0D0OOOO
O00ONodeOODOODODOODODO

5.3.1 PStream

place 00000 DD0OO00O0OO0O0DOO0ODOODOOOOOOIOSimulator 000000
00o00D00oo00o0ooDo0oooDOooooooDoooooooooooooon
0000000 RubyOOOOOODODOODOOOOODOOOO gets, write, input, output
00000000000 0000D0o00DooooPSreem 00000000000 5.60
oo

000000 5.6 PStream

class PStream

def initialize
@stdin = Queue.new
@stdout = Queue.new
@stderr = Queue.new

end

def gets(rs = ”\n”)

return @stdin.pop
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end

def write(a)
@stdout . push(a)
end

def input(a)
@stdin . push(a)
end

def output
return Q@stdout.pop
end
end

5.3.2 Interpreter

place0000000O0DOO0ODOODOODOOODOOOOOOOOOOOOOOOO

0000000000 IxiaDOOODOODOOODOInterpreter 0 1000000000
O0000D00000000 placed000D0O0OO0ODO0OOODOODOODOOODOO
000000000000 00C000O000O000O00O0u0oOOUODOplacednn
0000000000000 D00D0O0D000000D000000000A0 Interpreter O
O000000000O0DO0ODO0ODO0DO0OD0O0O00Ob0O0O0000 Interpreter 0000
goood
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6.1 OO

ooooboobobooooobobobl1200 2400b0bbooooooboooboo
goooobooboobobooobooboobobooboobo elboobDbooD
000 6.1000020 st00 place0000O0000OOOOOODOOO

gooodoD 6.1 0ODOODOOODO

require_relative ’../ixia’

include Ixia

def bitonic_sort (up, st, array)

if array.size <=1
return array
else
if st > 0
pl = Place.new(true, st, array[0...array.size/2]) do |up, st, array|
$ref.put bitonic_sort(up, st —1, array)
end
p2 = Place.new(false, st, array|[array.size/2..—1]) do |up, st, array|
$ref.put bitonic_sort(up, st —1, array)
end
first = pl.get
second = p2.get
else
first = bitonic_sort (true, st—1, array[0...array.size /2])
second = bitonic_sort (false, st—1, array[array.size/2..—1])
end
return bitonic_merge (up, first + second)
end
end
def bitonic_merge (up, array)

if array.size — 1
return array
else
bitonic_compare (up, array)



30 first = bitonic_merge (up, array [0...array.size /2])
31 second = bitonic_merge (up, array[array.size/2..—1])
32 return first 4+ second

33 end

34 end

35

36 def bitonic_compare(up, array)
37 dist = array.size / 2
38 dist .times do |1i]

39 if (array[i] > array[i+dist]) = up
40 array|[i], array[i+dist] = array[i+dist], array[i]
41 end
42 end
43 end
6.2 OO

6.2.1 0OO0OOO0O

ooOoobooboboobg e lb00b00ob0oobObOoobooboboobobOooo
O00000D0O0O0O00O00000D0O0 bitonicsort 0O0O00OOODO 620000000
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00 bitonicsort 0000000 630000

gdddodoooooooooooooooooobobobobbbbbbbobbobobobobb
O0st00000000000DO000O0DO0O00 place0O0D0O0OODO0ODODODOODO
0000000000000 000d place00000D00O0ODOOOOOOOONO place
ggoboboooobobboooobobboooobboboooooboooobobooog
goobobooooooo

O00oon 6.2 00000 bitonic_sort

1 def bitonic_sort (up, array)
2 if array.size <=1
3 return array
4 else
5 first = bitonic_sort (true, array [0...array.size/2])
6 second = bitonic_sort (false, array[array.size/2..—1])
7 return bitonic.merge (up, first 4+ second)
8 end
9 end
000000 6.3 00000 bitonic_sort
1 def bitonic_sort (up, st, array)
2 if array.size <=1
3 return array
4 else
5 if st > 0
6 pl = Place.new(true, st, array[0...array.size/2]) do |up, st, array]
7 $ref.put bitonic_sort (up, st —1, array)
8 end
9 p2 = Place.new(false, st, array[array.size/2..—1]) do |up, st, array|
10 $ref.put bitonic_sort(up, st —1, array)
11 end
12 first = pl.get
13 second = p2.get
14 else
15 first = bitonic_sort (true, st—1, array [0...array.size /2])
16 second = bitonic_sort (false, st—1, array[array.size/2..—1])
17 end
18 return bitonic.merge (up, first + second)
19 end

20 end
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0000000000000 0000DO0000DO0D00OD ThreaedODOODODOO
place 00000000 Master 0000000000000 OOOOODOOOO place
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71.1 RubyODOODOOOOO

goobbobooogoobobbbooouoobbooooobbooooobbooo
OORubyOOOOODOOODOOOODOOODOOODOOOOOODOOODOOOODOO
ggoboboooobobboooobobboooboboboooooboooobobooon
gooboboooobobbooooobboooobboooooboooobobooon
000000000000 0DbOO0evalDODOOO

1 if a —1

puts ‘test’

000000000000 000D0000000ODOif0 evalOO0O 00000
0000000000000 0 f000D00RubyOODDOOO0ODOODOOO0ODOOOOOOO
O00000O00O0ORubyOODODODOODOOOOODOODODOODOODODODODO
goooo

7.1.2 class

1 class Person

3 end

000000000 OD0ORubyOOODO classO000OO0OO0ODOOOOOOOODOOODO
OO000OO0000oDoOoO00OoCoDoOO0U0bOOoOo00oDoOO00oDOo0o0booOoOO0O Rubyd
gooboboooobobuooouobbuoooobboooobbbuooobboo
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7.1.3 def

1 def get ()
2
3 end

O0000D0D000000Ruby0OO0D0DOOD0OOOOODODOOODOOOODOODO
0000000000000 0000RubyO0O00O00O0OOCOODOOO Object OO
OO000D0O00000 0 mainO00O000O00ODOODOOOOOOODOODODOOOO
OD0mainO000000000OO0O0OODOOOOOOOO0OOO0ODOO0ODOOODOO0ODO
gobobooodoobuoooobbuoooobobboooobbbooobLbboooono
goboboogobooooooboboooooo
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00 Places2] 0000000000 0D0O0O00ODO0O0 RubyOOOOOOODOOOODO
Thread 000000 RubyODOOOOOOOOOOOOOOOORubyOOOODOOO
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0000000000000 place0000OO0OtheworldOODOODODOODOODOO
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O0000 RubyOOOOOODOOODOOOOOOOODOOODOOOOOOOO Proc
gooboboooobobooooobboooobboooooboooobobooon
gogobbbooooboboooo

O0000D0000000000ORacket 00000 RubyOOOOOOODOOODO
gogobboooobbboooobbbooobbbooonooboooobbooon
O00D0000000ODRacket 00000000000 O0O0ODO0ODODOOOOODOODOO
ggobobooooboobooon
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